Question: Change in the health of an individual, group of people or population which is attributable to an intervention is called
Answer: health-outcomes

Question: Most women shoulder the responsibility of the household in order to take care of the
Answer: family

Question: The following are causes of gender inequality in Nigeria except	
Answer: promotion

Question: Approximately 75% of worldYs women are unable to obtain bank loans because they have unstable	
Answer: jobs

Question: Across board, a number of
production	are stratified across
the genders
Answer: industries

Question:	typically go into higher
paid and higher risk jobs when compared to women
Answer: Men

Question: Health
health that result from measures or specific health care investments or interventions.
Answer: outcomes

Question: According to the European Commission direct discrimination only
explains a small part of gender	
differences.
Answer: wage

Question: Health
traditional way to quantify healthcare delivery and are an important source of data
Answer: outputs

Question: Women are more likely to earn low incomes because of gender	
Answer: discrimination

[DES111] Changes in the world production and increased________ have changed the character of rural areas.
urbanization

[DES111] Which of the followings play important role in developing rural regions.
all of the options

[DES111] Rural development is the process of improving the _____ of life and economic prosperity of rural dwellers.
quality

[DES111] A ______ or countryside is a geographic area that is located outside towns and cities.
rural-area

[DES111] Which of the following is not a characteristics of a typical rural area.
none of the options

[DES111] Rural development has traditionally centered on the utilization of land intensive natural resources such as agriculture and ______.
forestry

[DES111] Indusrialization requires attitudes to work, savings and _________
risk-taking

[DES111] The influence of colonial masters and particularly _______ had affected industrialization in Nigeria
slave-trade

[DES111] A rural area can also be conceived as an area of land outside a densely______ urban area.
populated

[DES111] One of the explanations for the unequal spread of industrialization in Nigeria is ________.
culture
[DES111] Urbanization can lead to both horizontal and _________ growth of an area.
vertical

[DES111] The ______ predicted that that 64.1% of developing countries and 85.9% of developed countries will be urbanized by  2050.
United-Nations

[DES111] Urban areas are created through urbanization and are categorized by urban _______ as cities.
morphology

[DES111] _______ is a rapid and historic transformation of human social roots on a global scale.
urbanization

[DES111] ______area is a human settlement with high population density, infrastructure and built environment.
Urban

[DES111] The term urbanization can represent the level of urban development relative to overall ________.
population

[DES111] Rural _________ is characterized by its emphasis on locally produced economic development strategies.
development

[DES111] Urbanization represent the_____ at which the urban proportion is increasing.
rate

[DES111] The United Nations projected that ______ of the world's population would live in urban areas at the end of 2008.
half

[DES111] Urbanization is closely linked to _________, industrialization, and the sociological process of rationalization.
modernization
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